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Topic:- GENERAL HINDI

1) AEEIGR, BT, 4 €1 & To-uedl & ur qud,

ATEEIGY, &1, 3 81 & To-uadl Rt ford o1 - 3w forw SR o1 gwuTa fhar T 82
1. JATII

2. TH Y DIS gl

3. TV

4. DBTIIE

Correct Answer :-

2) ‘PUAl, g§i TRIIEGR B 1’ 9 91 | Tl 9gad- § 7§ aTd g $I J1d B
1. X

2. STH Y DIS T8l

3. gXdI&R

4. gl

Correct Answer :-

. &R

3) 91 &1 Uit g geTak &1 i R A A s ar e
1. Se B AR g

2. HTUT A | WIfeR B

3. YIS

4. IRAS BT YGDT g



Correct Answer :-

o I BT UGHI g

4) I oI faam g Fg A A s AT R?

1. JRd
2.3y

3. foRy
4. faza

Correct Answer :-

6) Riz’ FTugfga Fg i A FT I
1. TMHaA

2. Mg

3. 3ffg

4. 3HTSAL

Correct Answer :-

7) R guddmer R @I fadasws
1. TOMOTioT
2. orgToit
3. gry dion



4, dIU 1Y

Correct Answer :-

8) qlgsr dIAM RS fags |
1. G81 H gaT a8l

2. ST 8 Sl &gl

3. GRIIal

4. SN g TSI GRl |

Correct Answer :-

. GBI H g TS

9) $A-$d o1 Hel A g -
1. fpaIRT - &&1

2. 9R-TNT

3. 991 - fhIRT

4. O - &ST

Correct Answer :-

o - fFART

10) ‘HigH IR AT 81 f5d YR &1 919 32
1. Taf% oo a1

2. ARl dT]

3. Agad dI

4. Ty g 91|

Correct Answer :-

o Wl dI

Topic:- GENERAL ENGLISH

1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:



I was a bit apprehensive about doing so much in one day, but it was plain sailing.
1. very difficult

2. very simple

3. boring

4. too difficult

Correct Answer :-

» very simple

2) Choose the option that correctly sequences the following sentences.

1. It has a living room, two bedrooms, a modern kitchen and a bathroom.

2. From our balcony we can see the blue sky and the deep blue sea.

3. My sisters and I live in a comfortable apartment with a wonderful sea view.
4. The apartment is small but bright and airy.

5. We like the apartment, and we like its location.

1. 15243

2.32415

3.51423

4. 15234

Correct Answer :-

« 32415

3) Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:

He  to Kolkata yesterday.
1. gone

2. has gone

3. went

4. have gone

Correct Answer :-



4) Out of the following four options, choose the incorrect sentence:

1. The new trainee was clever enough to guess the answer.

2. The new trainee was so clever that she guessed the answer immediately.
3. The new trainee was so clever enough not to guess the answer.

4. The new trainee was too clever to miss the answer

Correct Answer :-

« The new trainee was so clever enough not to guess the answer.

5) Out of the following options, choose the correct form of adverb for the given sentence:

I was so late in reaching the station that I missed the train.
1. soon

2. only

3. almost

4, entirely

Correct Answer :-

o almost

6) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

The government to increase taxes.
1. is wanting

2. wants

3. were wanting

4. have wanted

Correct Answer :-
e wants

7) Out of the following options, choose the most appropriate usage to fill in the blank:



We tried _ hard to get the muffin mixture correct.
1. really

2. real

3. greatly

4. extremely

Correct Answer :-

 really

8) A sentence with an underlined word is given below. Choose the correct option which is closest in
meaning to the underlined word.

The new chemical formulated by doctors could give an unprecedented insight into the ravages of Mercer's
Disease and provide a new line of treatment.

1. similar

2. extraordinary
3. equivalent

4. unparalleled

Correct Answer :-

 unparalleled

Topic:- GENERAL KNOWLEDGE

1) Name the Climate and Clean Air Coalition Global initiative led by WHO, CCAC and UN Environment to protect
planet from Air Pollution effects.

qg UGUYT THTT & T8 BT GR&T & g ssquash, e ofk Iged 7y wafarur & Aqa & sieary ok @5 ag
IIRIE (FATEAC €S w9 TR HIefeR) afYie ugd &1 7 Jard|

1. CleanAir / FAA T

2. Green Choice /‘;ﬂ_"f EeIER

3. BreatheLife / Sy NIEE2

4. Me Eco You Eco /Iﬁ éﬁ q\éﬁ

Correct Answer :-

» BreatheLife / Sy NIELY



2) Who among the following from Madhya Pradesh has been awarded with National Teachers Award 2017
recently? /

A Yeu ¥ fFafafed & @ frd g 1 & Wity e PR 2017 | Gwiia fovar mar 82
1. Dr. Suman Jhakhar / SI. JHA =TGR
2. Dr. Usha Khare / S1. 381 @Y

3. Manu Gulati / HY 1!€’||é|
4. Kavitha Nigam / ®fddl A

Correct Answer :-

« Dr. Usha Khare / 1. 39T ‘@ﬁ

3) District Panna comes under which Division of Madhya Pradesh? /
forem ua, wem wewr & fp wHmT (Fedie ) & siafa smar g 2

1. Chambal / IST

2. Sagar / TR

3. Shahdol / TSI
4. Gwalior / TATIRTIR

Correct Answer :-

 Sagar /g

4) The has approved a loan of USD 525-million to Madhya Pradesh for Infrastructure projects in
September-2018. /

A RdeR-2018 7 gfaTd g ukasrsit & fig wer wdwr #Y 525-fAfem s« sTer & BT &1 wedl &t 21

1. New Development Bank of BRICS / o &7 =11 fasbr d&

2. World Bank / ﬁ”a’ %

3. International Bank for Reconstruction and Development / H:IﬁtlfUT 3R fawr & fog G'W@H CED
4. Asian Development Bank / TRMETS Ao d%

Correct Answer :-

« New Development Bank of BRICS / fea &1 a1 fasrg d%

5) Name the Madhya Pradesh city where Union cabinet approved in Sep 2018 to setup one of the 4 National
Institutes of Design (NID). /



A RN & I WX BT ATH JdT15d W8T peilg Hfae 7 RydaR 2018 H 4 P17 fewimgT dwimH=l
QIS T A TP ) RITFIT H3 Bt Wipfa &1

1. Indore / s’él%
2. Bhopal / Hara

3. Jabalpur / Sd¢TYR
4. Gwalior / TdTfeTIR

Correct Answer :-

« Bhopal / T

6) Name the scheme launched in 2018 by Madhya Pradesh Government to subsidize power for labourers
and poor families? /

2018 T A YR WRPTR GRT AolgRl 3N T tRaRl & fog faecdfl A fadiiu ge R » Rn g dt g
ISTHT BT 19 Id1549?

1. Sambal Yojna / G-Il

2. Pradhan Mantri Krishi Sinchayee Yojana | GYTTHAT Wﬁﬁﬁfm
3. Krishi Rin Samadhan Yojana /WWWWW

4, Mukhya Mantri Khet Teerth Yojana / H’@I’J:I_?ﬁ W < AT

Correct Answer :-

. Sambal Yojna / S&d-AISHT

7) The Shahi Litchi which has been awarded the GI Tag recently, belongs to which of the following states? /

TS o O 2T € § shtens 2 A vt far wan @, Frafifaa § @ fra wrea @ d6fta @2
1. Bihar / [98R

2. West Bengal / gig &7

3. Tripura / lagﬂ

4. Uttar Pradesh / 3T ey

Correct Answer :-

« Bihar/ ﬁ's’R

8) The Plateau forms the water divide between the Ganga and Narmada basin. /

USRI 3R AT aRM & I Ut & faure &1 i srar g



1. Bagelkhand / SUTRIS
2. Rewa / JfdT
3. Bundelkhand / w

4. Malwa / HIdd]

Correct Answer :-

o Malwa / HIdI

9) Which one of the following is the world’s first Granite Temple? /
frafifaa 3 @ o919, g &1 yuw I9Ee wfer @2

1. Tanjavur Brihadeshwara Temple / ﬂ\_ﬂ'@ QB%{%R hfax

2. Shore Temple of Mahabalipuram / ﬂg@?ﬁw Hdc I{E?

3. Hampi Virupaksha Temple / gul fasuref dfax

4. Konark Sun Temple / EAlICY ﬂﬁﬂﬁ?

Correct Answer :-

« Tanjavur Brihadeshwara Temple / SlTgR QE%{%R hfax

10) On 19th January 2018 India joined the Australia Group, an informal arrangement which aims to: /
19 SHa 2018 HY R4, Tferars Tqg A A 8 war T Y U Sr=nie sqawt ft, e sexa A

1. Commitment of member states to the development of free and democratic societies and the promotion of peace
and prosperity. /

o 3R Awdife JaTS & A 3R i 3R Tgfa & TR & e vew st & ufddsdr &A1

2. Promote active collaboration and mutual assistance in the economic, social, cultural, technical and scientific
fields. /

3T, TS, TRG D, dh-id! R a1 & 8 ichd TganT 3R URWRS Tgradl &I dgral ol

3. Limit the spread of ballistic missiles and other unmanned delivery systems that could be used for chemical,

biological, and nuclear attacks. /

sfafRes el 3R 3 AHg Ied fadRur yunferat & TR ol TfEd &A1 T R ™R,
Sfdd SR TR gHE! & forg fosa o whan 7

4. Allow exporting or transshipping countries to minimise the risk of assisting chemical and biological weapon
(CBW) proliferation. /

IS 3R Sifae gROR (Hess) TR & SIRGH & &1 B & forg <21 & Fafa or grafm sA
&1 Al T




Correct Answer :-

« Allow exporting or transshipping countries to minimise the risk of assisting chemical and biological weapon
(CBW) proliferation. /

INRA® 3R Sfaw gfaR (fidiss)) TR & SiRaH &1 &1 B & e S0 &1 fFHaid a1 il oA
DI 3fd I

Topic:- GENERAL REASONING

1) Find the missing number: / W a7 ITd PN
18,24,21,27, _ _ ,30,27,33

1.33

2.30

3. 21

4,24

Correct Answer :-

. 24

2) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
= <t 715 e SreRY ud GBSl BT S H AR Bl 8 | Ted Ao uga |

(i) SU99RE86SH

(ii) SU99RE86SH

(iiii) SU99PES6SH
(iv) SU99RES6SH

4., iii

Correct Answer :-

3) 10 men can complete a job in 16 days. How many days will it take if 8 men do the same job?/
10 T&Y 16 fa11 T TH HTH B T 6 APd & | IH! BTH B HIA 8 8 |01 B fha-11 07 Tm?

1. 22 days /22 faq



2. 16 days / 16 Tg
3. 20 days / 20 &

4.18 days / 18 &

Correct Answer :-

« 20days/20feT

4) Which one of the following four addresses is NOT EXACTLY same as the one given below?/

fafRTRrUaR &I ¥R R S e g s aT e T8 22

W Quay Rd, V & A Waterfront,
Cape Town, 8002, South Africa
+27 21 410 7100

(i) W Quay Rd, V & A Waterfornt,
Cape Town; 8002, South Africa
+27 21 401 7100

(ii) W Quay Rd, V & A Waterfront,
Cape Town, 8002, South Africa
+27 21 410 7100

(iii) W Quay Rd, V & A Waterfront,
Cape Town, 8002, South Africa
+27 21 410 7100

(iv) W Quay Rd, V & A Waterfront,
Cape Town, 8002, South Africa
+27 21 410 7100

4. 111

Correct Answer :-

5) Find the average. / 3NTd I B
70, 80, 85, 58, 85 & 90

1.75

2.71

3.78



4. 72

Correct Answer :-

. 78

6) In a group of 63 people, 32 of them like Horlicks, 43 of them like Bournvita and each person likes at least
one of the two drinks. How many people like both drinks? /

63 AT} & TP TYE H, S0 A 32 Bl gifeIad Wig §, 37U W 43 P! dI-dIeT Wig § MR QAP afa &)
A A A HH A HH TP Ug e 2| fa @ &) 31 U9 1R 82

1. 14
2.13
3.15

4. 12

Correct Answer :-

7) IfE = 5, HEN = 27, then PEN = ? / Gf¢ E = 5, HEN = 27, @ PEN = ?
1. 53
2. 36
3.35

4.63

Correct Answer :-

« 35

Topic:- PEDAGOGY

1) In education, John Dewey stressed on: /

g #, <t 3t A 7« fan &:

1. Learning by doing / PTH BHIP GIGT

2. Rote learning / e I IRaAT

3. Authoritarian teaching methods / 3{ YTReRaT (m fRrefor faferi



4. Imitation and modeling / 3{Jh XTI 3R AISIe

Correct Answer :-

« Learning by doing / TH ®Rdb G-

2) The hormone that increases the heart rate during fear or anger is: /

WY T HIY F SR g4 Tid d¢11 a1l gTH I &:
1. Insulin / Eﬁl%ﬂ
2. Thyroxine / YTSRITRI

3. Adrenaline / Q%ﬂlaléq
4, Oxytocin / SfiRiTeiRH

Correct Answer :-

« Adrenaline / Q\%qlaléq

3) Summative evaluation is used for which of the following purposes? /
Frafafaa 4 9 fea sexa & forw gufea geaie &1 3w fear smar 32
1. To find out what a student’s interests and work habits are. /

g S & fore o B & T 3R HTH BT 3fled AT g |
2. Primarily to certify or grade students. /

T U Y B & IO A1 98 - & forg|
3. To monitor students progress during the learning process. /

Ra BT ufshar & GR faenfial 1yl &1 AR 3 & feral
4. To assign students to specific learning groups. /

fafRry fRremr gugl & oEf & Afdy oA & fory

Correct Answer :-

« Primarily to certify or grade students. /

T U Y B & IO A1 98 H & forg|

4) What is the purpose of educational supervision? /

Rerfore T H1 ST AT |?
1. To set norms, procedures and practices. / AFG S, ufsparait 3R yureft &) Ruiida el



2. To fulfil parental expectations. / HIT-UdT bl WISl ol URT AT

3. To develop a positive teaching-learning ethos in the institution. / IR T Uh HRIAD FRI&01-3{fTH
AHTIR faehRyd BT

4. To develop an efficient office management system. / Ud P[] SRty UseH Jomel fasRid &A1

Correct Answer :-

« To develop a positive teaching-learning ethos in the institution. / TR T Uh HRIAD FRI&01-34feTH
ABTAR faehRd BT

5) The theory of Insightful learning gives importance to: /

e T T Ristial e 1 ged dat &:

1. Develop autonomic functioning / ¥« FHIIYUC famRid & Bi

2. Develop thinking, reasoning, and imagination / ﬁEﬂT, doh qUT Hea-RITadT faHRd B &l
3. Develop emotional responses / HId[HD ufafean fasmRid A DI

4, Develop involuntary responses / s H m ICEARGEZS K

Correct Answer :-

+ Develop thinking, reasoning, and imagination / [aaR, dh qUT HeU-TRITedT [aHRd B Bl

6) The main job of a teacher is to: /

% R1grd o1 g s FE giar s:
1. Help the students to learn for themselves / faenffal o Tad de & geg a

2. Discipline the students / TI=ITRI BT SFRMA & 3@
3. Focus on teaching only / Had RI&U TR & diad HIAT
4, Point out mistakes of students continuously / ¢TI faenffal ot mafaal & 3 R BT

Correct Answer :-

« Help the students to learn for themselves / faenffal & Tad de & geg #

7) All of the following has been found to account for differences in memory between older and younger
children, except: /

Wﬁﬁﬁr&mwﬁwﬁﬁa@ﬁw@%ﬁ%éﬁwﬁﬁﬁﬁmﬁﬁw?r'g'qumw

1. Use of mnemonics / THID b G'Q'ChT[



2. Use of strategies / U] BT SUINT
3. Increased intelligence / §@1 E_'Ef @@Ik_fﬂ

4. Speed and efficiency of processing / Ush HUI CHRIGRG] S ddl

Correct Answer :-

« Increased intelligence / aa°f E_é' Tg’@ﬂﬂ

8) Language is not a necessary condition for: /
19T e & fore oo smaxgs fRufa 8t &:

1. Perceptual thinking / S{dYRUNHD i)

2. Critical thinking / T8 9d

3. Logical thinking / dTfches g

4. Analytical thinking / [dRIYUTEA® A

Correct Answer :-

« Perceptual thinking / SAURUNHD A

9) Students should be given opportunity for self-learning. This is in accordance with the principle of: /

faenfiaY # w@-sreaast &1 3rawR fear s anfen | g A & Rigia & sgeu :
1. Operant conditioning / TR DRI

2. Classical conditioning / FATRIH A DRI

3. Mental set / AR ‘;@ﬁ'f

4. Multiple responses / E_g'-qm&ﬁ

Correct Answer :-

« Multiple responses / Q@'—Qﬁlm&ﬁ

10) According to Cattell, the capacity required for learning and problem solving, independent of education
and experience is known as: /

%ﬁ%gﬁﬂﬂ,wﬂ@ﬁaﬁvmaﬁmﬁ%mmm, Rrem 3k srgya &t Tadzar A=

1. Fluid intelligence (Gf) / QR gfg (GITwm)
2. Crystallized intelligence (Gc) / w §@ (\_rﬂ'QTF)

3. Quantitative intelligence (Gq) / HIATHD g,ll\g (\Slnld’f-cL)




4, Processing speed (Gs) / TEXhRUT I (\_rﬂ'@)

Correct Answer :-

« Fluid intelligence (Gf) / 3R i (SIITH)

11) According to which theory should teachers and students engage in an active dialogue? /
fra Rigia & SR, Rt ok ol 3 e Afhyg Harg | day g1 91fge?

1. Teacher-centric / FRI&feh-dhfad

2. Social-constructivist / AT -JATATGT

3. Behaviorism / SAT&IRbl

4. Cognitivism / GT-dIG

Correct Answer :-

« Social-constructivist / 4 IHIRTIdO—{tHIOI I CZ\I

12) According to multiple intelligences theory, the ability to recognize and classify all varieties of animals,
minerals and plants, is known as: /

THIUP g Rigia & AR, IHaR), @ive ik el ot Juft forl &t ugar™ ok affepa v
DI &HAT Pt T ATT 8:

1. Spatial intelligence / R IIEEC @@
2. Naturalist intelligence / W §@
3. Bodily-kinesthetic intelligence / < R Ilaﬂ‘aé@ S

4. Intrapersonal intelligence / N RNERIES g,f&

Correct Answer :-

« Naturalist intelligence / W §@

13) In Lawrence Kohlberg’s Moral development theory, how many stages are there under the three levels
of morality? /

AN Baatt & Afa® faer Rigid 8, Afawar & & Wi & dgd fra TRurgid 82
1. Three / T

2. Six / 98

3. Five / UM

4. Four / dIR



Correct Answer :-

e Six/ 9%

14) In experimental method, the experimenter manipulates the i
waRTEs A § yarreal | S ysfa sare!

1. Independent Variables / ST TR

2. Extraneous Variables / dIgl TX

3. Intervening Variables / Tead a)

4, Dependent Variables / 3T TR

Correct Answer :-

« Independent Variables / ST TR

15) The core-curriculum does not emphasize: /

PR-uTawH FufiRe ® SR T8 3ar d:

1. problem solving / HHYT [GEIRURCH

2. a well-defined body of subject matter / fawg a¥d ol Uh 3B Re U TRUTIRd H3T 4T
3. common objectives / HIHI B%'Q'Ch W

4, integration of different subject matter / fafirs fawg a¥qd ol TDHIHRUI

Correct Answer :-

« problem solving / THXT AIRUI TR

Topic:- BIOLOGY

1) In male, TDF is produced by the sex region of y (SRY) located on the short arm of the Y chromosome. What
is TDF? /

R, Y TR & Bt Yol IR R y (THINRATS) $ o771 &5 §RT TDF IUTfed ST 21 TDF F1 82
1. Thought determining factor / Yfc %E?Tﬂgﬁm PR

2. Testis determining factor / ey %ETQ'I%"EFT ez

3. Testis damaging factor / fRew SafSiT thaex

4, Time detecting factor / CIQH feefadT ﬁﬂ?\f

Correct Answer :-



« Testis determining factor / CRCY TSCRASHT haeR

2) The simple inorganic substances released into environment during decomposition and mineralization are
reused by: /

e R @IS & SR yafaRur & TWifdd IRd Srbrafres Ugrdl &1 §=: UGN f= & gRT fbar St &:
1. Detritivores / S{URGIGRI

2. Producers / STqh

3. Carnivores / AR

4, Decomposers / AUUCDH

Correct Answer :-

e Producers / 3dIgdh

3) Lymphokines are protein substances produced in small amounts by lymphocytes and move from cell to
cell carrying message through the immune system. The most common lymphokine is: /

RrpIee=a WidH 98 terd g €, ot ferrpiarsel g1 S a4 # Sarfed gid § ek ufaRanda &
AT & AT BT TP BIBT A g BIRGT H & O1d ¢ | I AT ferp s =1 8:

1. Vaccine / Tleb]

2. Antigen / gfcre (Qélfﬂ:l)
3. Antibody / UfcReft

4. Interferon / ?ETW:[

Correct Answer :-

 Interferon/ ?ETW:[

4) RNA interference is initiated by: / 3[RTAT W&h g g1 3R fomaT SiTar %:
1. ds RNA

2. ds DNA

3.ss DNA

4. ss RNA

Correct Answer :-

o ds RNA



5) One of the scientists who unraveled the double helical structure of DNA and also proposed the existence
of an adapter molecule called t-RNAwas ./

TS ayi—® gl Sheau &1 fgefored a1 & Jasman 3R ¢-3RTUAT (t-RNA) ATHS TP ASPR
@Fa®) A & Afda dt Mywfaafdarag 9

1. Erwin Chargaff/ 3?%'_‘[ IR
2. Messelson / BRI

3. Francis Crick / R fhs

4. F. Griffith / U, RIftRpY

Correct Answer :-

« Francis Crick / m IGLa

6) Tunica corpus theory is connected with shoot apex. The concept was proposed by: /

ST BIUY Rigid, e Tiey A dftd 8 1 39 S[AaYURYI Y 59% gRT wfaurfed forar war ar:
1. Schmidt / fR9<
2. Julian von Sachs / qﬁm:[aﬁ@aq

3. Hofmeister / Eﬁb_alw
4. Gottileb Haberlandt / Tlcald Eﬁ_ﬁ'

Correct Answer :-

. Schmidt/ fR¥9e

7) The proportion of PAR in insolation is: / 3Tdd- @d’dﬂ') H PAR &1 S{JUTd = gt 8
1.<50 %

2. 80%

3.2%

4.>50%

Correct Answer :-

e« <50%

8) Search for plant and animal species from which medicinal drugs and other commercially valuable
compounds can be obtained: /



ﬁgmmﬁmﬁmmmmmmmﬁmwmeW

1. Bioremediation / STATI=ITROT
2. Bioaccumulation / SIaETg
3. Biosensoring / ECREREY
4, Bioprospecting / ECEEIN

Correct Answer :-

. Bioprospecting / Saol

9) A cuckoo laying eggs in a crow’s nest is an example of: /

TP B & T § 3 7 a1l TP B 19 571 T ISR §:
1. ectoparasitism / STRTUR I

2. brood parasitism / TRI] TR

3. Commensalism / GgHIST

4. Mutualism / YIR¥URT]

Correct Answer :-

 brood parasitism / |§IQI QRuifadm

10) If an organism needs to synthesize fatty acids which of the following compound will be withdrawn from
the respiratory pathway? /

gfe fft sfia & 99T enl o Hxafd $31 B Taxaddr 8 i 49 ARl A FufafRaa A I ST
e fApTar srem?

1. Pyruvic acid /W 3T

2. Acetyl coenzyme A / Qltlléa W A
3. Citric acid /ﬁlﬁ,\? ST

4. Fumaric acid / AR 3

Correct Answer :-

o Acetyl coenzyme A/ QI@IIE@ JgUGIZH A

11) Technique used for quantification and detection of mRNA: /

mRNA $1 T 3R TRATIE & for swHTd &1 91 arelt deb-ia! A 8:



1. Eastern blotting / Q\TﬁG_Q'hﬁT[

2. Southern blotting / af&oft seifd
3. Western blotting / gfgt s
4. Northern blotting / IR ST

Correct Answer :-

+ Northern blotting / ] AT

12) Technique employed in studying essentiality of any mineral and the deficiency symptoms associated
with the mineral in plants is: /

98 aa-t® o fedt off @ferer &Y srvardar sk diel & wfaer @ Safta =g« deon & sreaaa o
TANT B Wl g, A g

1. Euphonic/%[ﬁm?;R
2. Aquaculture / H&UTcTH

3. Mariculture /Wﬁf

4. Hydroponics / ST HaeH

Correct Answer :-

» Hydroponics / ST HaeH

13) The last five episodes of mass extinction appear to have occurred at the end of:/
oqu faqu 819 & sifaw Ui yerur R & sia A 8

1. Cambrian, Silurian, Devonian, Carboniferous and Triassic /

2. Cambrian, Triassic, Jurassic, Cretaceous and Tertiary /

3. Ordovician , Devonian, Permian, Triassic and Cretaceous /

4. Ordovician, Silurian, Carboniferous, Jurassic and Quaternary /

Sisifart, Riegia, ST, RRI® SR ST (TGHITHS)

Correct Answer :-

e Ordovician , Devonian, Permian, Triassic and Cretaceous /



14) A photoreceptor molecule other than chlorophyll which mediates several developmental and
morphogenetic responses of plants to light: /

FARIPA & AT TP BICRARR 3] 5l Y11 & MY & fafi—= faery ik e faerg ufaferan
B AR a1 g, e 8

1. Xanthophyll / U (SRAftha)
2. Phycoerythrin / q3|§5|'_;|3|3\’|a'_‘|

3. Phytochrome / TTSCIhIH
4. Carotene / ﬁfﬂ:{

Correct Answer :-

« Phytochrome / tb—l_si_aw

15) Griseofulvin is an antibiotic that has no antibacterial activity but is very effective against fungi. It is
commercially produced from: /

RgpafaT te tamiies @ SR H1S siamRih afafafy 78 @ afe= $ae & G sgqa
UMl 81 Ug arforfeae v 9 Ay Q I foar wran 8:

1. Penicillium chrysogenum / ufARferad m@:m

2. Penicillium patulum / UHFRAfeRT Ugaq

3. Cephalosporium acremonium / GGG Thh a9
4. Penicillium notatum / UFRTIfead AiceH

Correct Answer :-

« Penicillium patulum / OfRfery ﬁg?m

16) Only morphological characters are used for identification and classification of plants in : /

ﬁyﬁg@aﬁﬁﬁwﬁﬁ%ﬁaﬁweﬁvm%ﬁmmmﬁﬁﬁaﬁmwm
SIGIGH

1. omega taxonomy / Gﬁﬂmmﬁiﬂq
2. alpha taxonomy / 3{cth] e U] fagm
3. delta taxonomy/@mmﬁﬂﬁ

4. beta taxonomy/EﬂETaTﬁWUTﬁﬂT:[

Correct Answer :-

« alpha taxonomy / 3{cib] e U] fagm



17) Products of metabolism that are removed from the body through tubular secretion. /

ARSI WG & ATHH A IRR T TATITY F &) IATE g2 &1d &, = 3
1. Carbon dioxide, sodium, magnesium / PHIa 3133{\@133, ?ﬁﬁ'ﬁlﬂ, ﬁ?ﬂﬁmﬂ

2. Urea, amino acid, Chloride / ?{h_qT, Qﬁl:ﬁ 3, ?ﬁnTE_S

3. Creatinine, uric acid, Ammonia, Drugs / ﬁ?‘;ﬂ%ﬁ:{, W 3, &lﬁﬁm, ST

4. Glucose, calcium, vitamins / W, %@mm, faerfim

Correct Answer :-

« Creatinine, uric acid, Ammonia, Drugs / fhUfef, W 3T, HIfAa, SHl

18) Species which would fall into the category of endangered species if causal factors continue to operate: /
3 siferat < Rreeayma SRt & e & ot afd sty sRe Frer waf @, frer &

1. Indeterminate / 3AET

2. Threatened /ﬁ?ﬁtnﬂ@

3. Vulnerable / W&H
4. Rare /@?f‘l-f

Correct Answer :-

« Vulnerable / G@f\ﬁﬁ

19) During the transport of carbon dioxide the ionic balance between plasma and RBCs is maintained by: /

W%mam@%umq$ammaﬁ?m$mawﬁﬁﬁwﬁammw
STdl &:

1. reverse chloride shift / ﬂ?ﬂfaﬁm Rue
2. chloride shift / a(viﬁr‘s’g Rue
3. sodium potassium pump / ifsgH greRw gy

4. oxygen debt / JeRITST BT

Correct Answer :-

« chloride shift / FARISS e



There are some chemicals whose limited application on the leaf surface reduce or checks transpiration.
Which of the following is an antitranspirant? /

PO T A foFe 11 3 Tag W HHd Syt o3 81 Sra1 8 a1 Wauvr Y S S g
fFrafafaa # @ 919 91 ve yfaaraasie 82

1. Phenyl mercuric acetate / BRI IIW wiice
2. Naphthalene acetic acid / W%ﬁ? Q'w Qﬁré
3. Ethidium bromide / URIfSTT SIS S

4. Ethylene / Qﬁ?ﬁ:{

Correct Answer :-

« Phenyl mercuric acetate / {3l WQ_GPIW gdiee

21) The common aperture through which the first and second ventricle of the brain open into the third
ventricle./

98 9= oo forads areny & uferss &1 ugar iR gurt e fiR e A gaar g, A 8:
1. Foramen ovale / 3{SThR IY

2. Foramen magnum / Y Y

3. Foramen monro / 3¢ TFRY

4. Foramen obturatum / Y8 UTG &4 & ﬁm

Correct Answer :-

« Foramen monro / XY AIFRI

22) A group of species that theorizes a single common ancestor & all descendants of that ancestor — living
or extinct: /

%mﬁﬁmwwﬁmmqﬁﬁaﬁ?wﬁﬁamﬁwqﬁﬁ%mﬂmmmm

1. Clades / SR (3@13)
2. Kingdom / SI¥Td

3. Genus/d’QT

4. Family/WthlﬁTﬂT

Correct Answer :-

« Clades / STGRIET (T01S)



23) Total number of ATP molecules synthesized in EMP pathway by substrate level phosphorylation and
oxidative phosphorylation respectively are: /

st e wWR BIEp AR 3R sifRiSfed wiapiRave gRT EMP (SUHU) ARl # w=afta aTp
@3t srupsit ot o w@ HER: 1 B

1.10and 8 /10 3R 8
2.6and 4 /6 3R 4
3.4and 6/4 3R 6
4.8and 10/8 3R 10

Correct Answer :-

« 4and6/43R6

24) Double helical structure of DNA is developed through: /
ST Ft giedt T WRa 59 Areaw & faefia 91 71s:
1. scanning electron microscopy / BT sﬁaifl:r m

2. X-ray crystallography / T T aumet

3. compound microscope / HUSS Hlsq;l%d’;lbl

4. Ultracentrifugation / mﬂw

Correct Answer :-

« X-ray crystallography / T Tt

25) Amino acids like citrulline, ornithine and gamma amino butyric acid are called: /

grsgarsH, NHRA iR AT it Yedier ena 99 Srfit erw A weama 3:
1. non protein amino acids / SO S 3
2. essential amino acids / 3TARIH HAT 3A

3. protein amino acids / I S 3T
4. acidic amino acids / 3T 3MHAT 317

Correct Answer :-

 non protein amino acids / SUIE SHHAT 3

26) Chlorophyll is a pigment which is structurally similar to and produced through the same metabolic
pathway as other porphyrin pigments. The core metal ion present at the centre of the chlorophyll ring: /



FIRITP A TP qUID g Sl GRIATHD U H 3 YITBRA qUIP & JHH AT HRI & ATHH I
IdTfed 3R 3Hd & T gia1 8 | FRITbd N1 & &5 § Hivg A= PR U1 3ma- 8:

1. Magnesium / fREH
2. Manganese / HoT
3. Iron / TR

4. Potassium / tﬁéﬁfﬁlﬂ

Correct Answer :-

« Magnesium / fREe

27) A gene library representing the population of m RNAs in a tissue: /

TS HH-3YE &l TP SHdP H m RNA B SESIT B YeRid Hedl 8, 1 3
1. cDNA library / ?ﬂ@ﬁﬂ:ﬂ 1~E|";I_ES'

2. Gene bank / S H8R (\_rﬁ:[aﬁ

3. Pollen bank / TR &

4. Genomic library / SIS 48

Correct Answer :-

« cDNA library/F“g'Q:lQ g

28) Association of a hermit crab with a coelenterate, Sea anemone illustrates: /

Rrdever (STaIIE F 1Y TP THidanit dos 1 9y, IIEpd (I o we) = feamar 3:
1. proto-cooperation / &WW

2. Parasitism / ORSITAdl

3. Predation / fRIGR

4. Symbiosis/ﬂ?ﬁﬂa:f

Correct Answer :-

« proto-cooperation / 3{T& FgANT

29) What is common about apomixis and vegetative reproduction?/
ST 3R Ul 9 & 91 | o1 991 82

1. The progeny produced by both the methods are identical to the parents /



I 1Al ¥ IdTlqd Hdld S| & FA gldl &
2. Both produce haploid progeny IEG]] \’rl'{[ﬁl?f afd Iad Hd %
3. Both the processes occur in monocot plants only iG]l I PHad UhdIoux qren o g gfed giat %

4, Both the processes bypass the flowering phase /a1 gfeang g@ﬂ OTaRYT T IUGY Bl %

Correct Answer :-

« The progeny produced by both the methods are identical to the parents /
Gl Rt § Ianfed dafd Sl & 99 gid ©

30) Identify the positive interaction from the following: /

frafafed d & yarare wReRfbar @t ugaq o

1. Amensalism / TgSiadT (ORI T &1 81 Ug e g MR g¥RT ATHIfad 81T ®)
2. Competition / Ffcreaef

3. Scavenging / 3TOHTSI

4. Predation / URHEIUT

Correct Answer :-

« Scavenging / JTHTS

31) Internal cavity of the oviducts, ventricles of the brain and the respiratory passages are lined by: /

fErarfefal $t srafte g1, Al & ey iR 49 arf 9 grR1 &% 81a §:
1. stratified epithelium / WINT Jusmdr

2. transitional epithelium / GhHUBTA SUDH ]
3. squamous epithelium / Rledh! Iubdl
4. ciliated epithelium / G&HTHY IUdHa

Correct Answer :-

« ciliated epithelium / T&aTHt U

32) Number of ATP molecules produced on complete breakdown of pyruvic acid molecules in presence of
oxygen: /

SRt @1 IufRufa A urssias er 3rupsii & quf +RT 819 R Iaarfed ATP 3rusii &t W& A=
g g:

1.24



2.15
3.38
4. 30

Correct Answer :-

- 30

33) Premature fall of leaves, flowers and fruits in apple trees can be checked by spraying plants with: /

I9 & U5 # ufr, Bal 3R wal & 9Hg | Ued FRmae &t 5w viel W = & fosea & ary ot o
'\‘ITcﬂ%:

1. Gibberellin / fSTaRfer

2. Ethylene / ka%ﬂ:r

3. Benzyl amino purine / EEIESEGIR] @7{
4. Indole acetic acid / 3@?[ Q'@I'W 3T

Correct Answer :-

« Indole acetic acid / 3@?[ Q'@I'W 3T

34) A human male with Klinefelter’s syndrome ./ T e} RigHT ardT T a9d I3y

1. shows normal masculine characters. / ITHTT H& T A&0T fearar %I
2. is fertile. / STA1&H BIdT & |

3. has only one sex chromosome. / &Hdd T e O A g gl

4. has 47 chromosomes with XXY. / & XXY & 9T 47 T0RGH B |

Correct Answer :-

« has 47 chromosomes with XXY. / & XXY & 1Y 47 ORI BId g

35) Kupffer cells are found in the liver, attached to the walls of the sinusoids. They are /
PHY BIRABIT IHd A TS Sl §, 5l qre-aiss ot Al A gt et 81 ag =1 @
1. tubular glands that secrete alkaline watery fluid, a little enzyme and mucus./

J ogaeR Jfat S &R aRa YT, UreT TSTgH 3R S A1fad SRl ] |

2. specialized macrophages that dispose of old blood cells and particulate matter. /

3 faRy ApitheT St QR X BRSBTS 3R BT Id BT e Hd & |



https://www.shabdkosh.com/translate/%E0%A4%9C%E0%A4%A8%E0%A4%A8%E0%A4%95%E0%A5%8D%E0%A4%B7%E0%A4%AE/%E0%A4%9C%E0%A4%A8%E0%A4%A8%E0%A4%95%E0%A5%8D%E0%A4%B7%E0%A4%AE-meaning-in-Hindi-English

3. epithelial cells that stimulate release of bile from gall bladder. /

3 IUBH HIABIE SNt forarers & foRy ot gfad & forg Iafora =t ]
4. glandular cells that produce bicarbonate ions and somatostatin. /

d U PIRIBIT S FBTEC ST 3R FHSRSTSH BT I HRahl § |
Correct Answer :-

« specialized macrophages that dispose of old blood cells and particulate matter. /

3 foRIY Ashithol Sff QRIT Yo PIRMH137 SR B0 dd &1 (TS & g

36) Sum total of living genetic resources such as seeds or tissues that are maintained for the purpose of
animal and plant breeding, preservation, and other research uses: /

SHaR 3NR T & WelA, TRE0T, 3R 3 WMy P I£ =Y & e yafRud 3 e shifad smaafie
ATl S i1 1 SHdd BT Hdl T - Hearar 3:

1. Seed bank / 'S d&

2. Gene bank / S 8
3. Herbarium / 8RaRTH
4, Germplasm / SHERH

Correct Answer :-

« Germplasm / SHERH

37) Semisynthetic human insulin prepared by using: /

IHiRiAfe® ura S &1 FeT 371 33auTa Fed §U aUR fohan SiTan 8:
1. Pork pancreas / {3 SR

2. Yeast cells / THIR ﬁﬁmu

3. Bio chemicals / 91d IHA

4. Escherichia coli /gmﬂﬁvm AN

Correct Answer :-

+ Pork pancreas / {31 SERY

38) Which of the following is true regarding the tertiary structure of proteins? /
WA @t golge W= & IR A Fafafea d ¥ s araa 32
1. Combination of subunits / F&g{AC| &1 IS



2. a - helix or B-pleated sheet / 3Hcthl Bicidy 1 dficl Wilde Qiie
3. Skeleton of Amino Acids / Q'&l:h 3T I Y @]
4. Side Chain Orientation and Position / TTd $Rga SifHfa=am 3R fRufa

Correct Answer :-

« Side Chain Orientation and Position / UTRd $RaaT Sfifa=ama ok fRufd

39) Which of the following process is not involved in the formation of blood clot: /

Frafafada uftear 7 & &9 91 93 & Y91 & T4 d Wfda 781 3:
1. Release of thromboplastin / TSI BT ATl

2. Denaturation of thrombokinase / YT H bl i&?l?lcbwl

3. Formation of fibrin / LblSiEH DS

4. Conversion of prothrombin to thrombin / T I $ifteq T =qidvur

Correct Answer :-

« Denaturation of thrombokinase / HI%ad ERRICINE P REZ2YY

40) Which of the following chemical agent is used for fumigation? /

yAF & fore e & 3 &9 a1 wmafae sifirede Iuah fear sirar 82
1. Phenol / fTal

2. Alcohol / Tehigd

3. Todine / SIS

4. Formaldehyde / BIHCSIBIZS

Correct Answer :-

« Formaldehyde / ﬁﬁ@ﬂgﬁg

41) Which of the following is a Mendelian disorder? / fafefaa 7 @ @19 91 ASfergT fewaiiss %‘.’
1. Phenyl ketonuria / fth=ITae ﬁ?ﬁﬁfm

2. Blindness / €81g1-dl @B@ﬁm

3. Mongolism / Ao

4, Turner’s syndrome / TR ﬁl@q

Correct Answer :-



« Phenyl ketonuria /

42) Classification of viruses by Baltimore is based on: /
e R gRT faumupen &1 arffevor 39 wR smerfa &:
1. The size factor / HISyl dRdh

2. The nature of genome and its replication strategy / ST &I Hq)ia Q_d 3IP] Uﬁ?ﬁf{[@f
3. The type of host they infect / BIRC BT UHR Sl d UehHd HRd &
4. The shape of the virus / dIUXY hT H[hR

Correct Answer :-

. The nature of genome and its replication strategy / SIHIH 1 Hcpi?l Td DI Uﬁ?ﬁf{[@f

43) Choose the end products non cyclic photophosphorylation: /
AP BICIBIEhINARM & 3ifdw Iarg gHe:

1. 2 ATP, 2NADH, 02

2. 8ATP, 12 NADH, 02

3. 6 ATP, 2 NADH, 202

4. 6 ATP, 3 NADH, 202

Correct Answer :-

» 2 ATP, 2NADH, 02

44) Choose the correctly matched pair from the following: /

Frafafea o 3 9t va far mn gm g4:
1. Chloramphenicol — Streptomyces venezuelae / FIRTHh I — @A@W éﬁw

2. Cyclosporin — Monascus purpureus/ﬂmﬁq—mt@f@ﬂ
3. Pyrethrin- Azadirachta indica/ msiiaq -1

4, Protease — Aspergillus niger/m?ﬁ'aﬁ —ﬁmﬁfm‘r BIERN

Correct Answer :-

« Chloramphenicol - Streptomyces venezuelae / FIRTHUb DI — @A@W aﬁw




The places on earth occupied by large number of endemic species which face the threat of habitat loss are
called: /

7 W 931 HEr | U wiife yenfadl gR1 U5 fhd T R o watar aifa & wa &1 e
X ¢ e Head §:

1. ecological hot spots / WWWETEWTE
2. mega diversity zones /ﬁ'-‘l'l'l?f fafay ?33[

3. safari parks / BRI Uih

4, national parks /T@’qm

Correct Answer :-

« ecological hot spots / m&@m‘s"hw‘k

46) The hormone that increases the heart beat if present in higher concentrations is: /

98 ST Sl I Higal # SUFRYA g1 W faa ot uso @l gegrar e, e 8:
1. Insulin / SYfe

2. Adrenaline / TfgAfeH

3. Calcitonin / heETC I

4. Glucagon /Wﬂq
Correct Answer :-

o Adrenaline / ngéll%lq

47) Viruses are sometimes called as wandering genes because: /

faurupat &1 Hfi-w et HewA ard wewsia w1 waT 8 Fif:

1. They are infectious. /aW%I

2. They carry both RNA and DNA. /d 3HRUATY ﬁ@@ﬂﬁ%%@a%l

3. They carry only one type of nucleic acid. /é%ﬁ@t@ﬁ%w &Wﬁ\_ﬂagl

4, Nucleic acid is the only active part of a virus. / WWW%@TW W &W%I

Correct Answer :-

- Nucleic acid is the only active part of a virus. / GTORY &1 Tfohd 3w Had gfadd 3 g

48) Like higher plants, photo autotrophic bacteria are capable of converting radiant energy in to chemical
energy. But the process is "Anoxygenic'. What does it mean? /



IADIC UTGU Pl dig, UPTRIAUITYT dRIRIT [ATHhRUT FHoll DI AP SHoll H TRdldd hIH H
e g 2 | afdp ufhar <ot e gidt 21 3T =1 a1 22

1. They cannot split H,0, so no Oxygen is evolved. / & H,0 H W& g! ®x Tdbd, IHICTT SHito BT HHT0T
g1 BId|
2. They have their own reducing power. / 3P IUHT SIS &W@?ﬁ%l

3. They can split H,O by other methods. /A 3= fafd gy H,0 BT WS B qHd gl
4, Oxygen is evolved, but cannot use it. / 3R o1 fmfor G\Idl %, Afd ERSEAl Wqﬁaml

Correct Answer :-

+ They cannot split H,0, so no Oxygen is evolved. /g H,O W@@qqﬁmm, Sﬂﬁﬂ SffRIo &1 fAafor
I8! BId|

49) Spot the mis matched: / TEd fHreTe &1 94 3
1. Sertoli cells - nutritive / T cll BIRABT - TTDHIT

2. Graafian follicle — corpus luteum / AL Jco - Uid fus
3. Corona radiata - sperm / 3R1Y filc - Rh U]

4. Leydig cells - testosterone | ST PIRDT - SR

Correct Answer :-

. Corona radiata - sperm / 319 Il - RhTT]

50) Which of the following reactions take place in the glycolytic reversal phase of Calvin cycle? /
Fa a9 F WIS e s Nawda IR § Fufifaa § @ o= Wt sifufrar g)dt 22
1. Oxidation of phosphoglyceric acid to dihydroxy acetone. /
IEPITHRD 33 BT SISeTSg el THICH H eIl
2. Oxidation of phosphoglyceraldehyde to phosphoglyceric acid. /
B D[RR TS EIS S 1 b 3T H SRR

3. Conversion of phosphoglyceric acid to phosphoglyceraldehyde. /

IR 3T BT BIDINaR A SEIeS H =UIRUI|
4. Conversion of phosphoglyceraldehyde to ribulose phosphate. /
BIpIERATS8eS Bl RYals BrEbe H TRl
Correct Answer :-

« Conversion of phosphoglyceric acid to phosphoglyceraldehyde. /



51) Which of the following statements is incorrect about diatomite? /

SHcATSe & IR § fAufafad & 9 &9 91 oY= Tad 82

1. A poor conductor of heat. / HTHI hT pdlcIh 6\Idl %I

2. Used in the manufacture of fire bricks and dynamite. / e—r@m—s’é‘d (WIdx i&lob ) GhT SIRGICIEE %ﬁtﬁmﬁ
T far ST g |

3. Porous, insoluble and chemically inert. /%_;{H?H, W G?ITWW@W@HT%I
4. Obtained from the hard cell wall of lichens. / ﬂlsab"l Pl HSR HIRGT FHRT T U fosar Sira %I

Correct Answer :-

« Obtained from the hard cell wall of lichens. / Q'Hsab"l P HAR BHITRAHT FHRT T U o ST %I

52) Which of the following represents a detritus food chain? /
fFrafafaa & @ 19 a1 fsieew @ §aer qxfar 32

. Oak tree —» Insects —» Warbler / g deld —»FT  —» AT (TF UFR F Ta7)

5 Grass —» Rat— Snake —» Eagle /HH—» Il —» 9 —» %5

Phytoplanktons—s» Zooplanktons—s Small fish — Large fish / 9lgUteides —» UITUTCeIdeh
, Ol FAoell—>  J31 Al

4 Dead leaves —» Woodlouse —Black bird / Hd ofcadal —» CIHE —» ITTATIET

Correct Answer :-

Dead leaves —» Woodlouse —Black bird / Hd ofcadal —» CIHE —» ITTATIET

53) Which of the following is not a mechanism to increase body temperature? /
frafafEa 3 9 o9 IR & auaE o1 9g arelt farafaf =8 82

1. Increased metabolism /Wﬁq@

2. Vaso dilation /HT%WWTUT

3. Shivering / HYHUL

4. Pilo erection /WE@@T‘H

Correct Answer :-



« Vaso dilation / dllghT YIRUT

54) Which of the following is not a function of fertilizin- antifertilizin reaction? /
fFafafEa 9 @ o Fge-REeae sfifear | ufea g9 ara srf a8t 32
1. Sperm identifies egg. / [PTU] 318 & UgTE HRaAT 5 |

2. Release hyaluronidase. / GIQQ'%QTI?I%H ﬁ Had dhdl %I
3. Fertilization between different species is prevented. /WW%WW@WW%I

4. Prevent poly spermy. / dgdnlkﬂdl CARIE ) %I

Correct Answer :-

» Release hyaluronidase. / quc'i;!@\flr'\'lg%i ﬁ Had dhdl %I

55) Which of the following is a prenatal technique to find out the genetic defect of a foetus? /
Frafafea ¥ 9 o @t 1 & rgaifdre gy &1 yar amm & e yagd a@-ie 82
1. Biopsy /W

2. Scanning / SPHAI&(0T (ﬁv_ﬁ'ﬂ)

3. Laproscopy/w

4. Amniocentesis / 3edd e (\}Iﬂﬁ\}h@%ﬁm)

Correct Answer :-

. Amniocentesis / Seaa e (MMM

56) Which of the following is not a feature of connective tissue? /

fFruafefad & A #19 Jaisl Sae @t v faivar adi 82

1. Link and support other tissues. / WW@W@%@WW%W%I
2. Cells are found close together. /WW@%%W%%I

3. Mesodermal in origin. / H{¢ ¥4 J AR gl 8|
4. Larger quantity of intercellular matrix. / SARTHIRIE LT Dt A Wﬁ?ﬂ%l

Correct Answer :-

 Cells are found close together. /WW@%W%%I

57) Kathiawari is an important breed of Indian horse. It is generally found in: /



FIYITART R 918 I TP AUl A & | I8 HH: 4+ H UT Il &:
1. Gujarat and Rajasthan / {[eIXId 3R ISR

2. Himachal Pradesh /%WEI%QT
3. Punjab / USITd
4. Meghalaya /fITI'IFI'q

Correct Answer :-

+ Gujarat and Rajasthan / T[SIXId 3R ISR

58) According to Hugo de Vries evolution is caused by: /

T & 9 & garfae e g & SR g 8:

1. single step large mutations / b TRUI 3= IaRadd

2. gradual inheritance of useful variations /W%W@[% iﬁﬁm
3. a continuous and gradual process / U fARaR 31R e+ ufshar

4. natural selection / UTpfd =T

Correct Answer :-

« single step large mutations / Uch ¢l dRUI 3= IaRadT

59) Part of the brain that helps in regulation and maintenance of muscular activities: /

aferss &1 ¢ i o gt afafaftrl & fafaee oik varama o veg ovar g, =1 sgamar s:
1. Medulla oblongata / A== (AgaT ffediien)

2. Midbrain / HEIHIRTSD

3. Cerebrum / THI&TSH

4. Cerebellum / G'ITZI%W

Correct Answer :-

 Cerebellum/ &Iﬂtl'%l'@ﬁ

60) Part of the chromosome beyond the secondary constriction is called ./

fedra Fatol | WX UREE BT HRT Heardr gl
1. Chromonema / STHIFHT

2. Centromere /Wﬁg



3. Satellite / W (HCdISC)
4. Telomere /é?hﬁ?

Correct Answer :-

. SateIIite/&Iﬂq“ﬂ@%T‘ﬂ%?)

61) Progesterone prepares the inner lining of the uterus for implantation. From where is it secreted? /

WIoReH, 3RIYYT & g mufzr ot Wit e R sa1 8| 9 Fel @ wifaa glar 2
1. Foetus / YUT
2. Uterine wall /erfsrqﬁa"law

3. Pituitary / TUCYe! (UIgW) %Y
4. Corpus luteum /did fis

Correct Answer :-

» Corpus luteum /did fis

62) Find out the mismatched one: /E:Iﬁ'\ﬁaﬁﬁ CARCI
1. Eubacteria — peptidoglycan /@Hﬂﬁm - aﬂﬁ@.ﬁw
2. Sulphur bacteria - thermoacidophile / PR ST - Wﬁ@@lﬁw

3. Thermophile — hot springs / QJHTLin"ﬂ - 3T Hd

4. Dead sea - methanogens / Hd HIVIX - Y

Correct Answer :-

+ Dead sea - methanogens / Hd H[IX - TSl

63) Plants that grow in sandy soils are called: / aTj\’rlTﬁI?f # 3T a1 N =1 Hgad &
1. Lithophytes /@?ﬁ'@?«:

2. Psammophytes / W@E

3. Oxylophytes / S‘I'J:I}I’?ﬁ@_c‘r

4. Halophytes /m@?{

Correct Answer :-

. Psammophytes/W@?{



64) A structure present in human heart that prevents the backward flow of oxygenated blood when the
ventricular pressure falls. /

mﬁw@awﬁmﬁﬁmm%ﬁﬁwmm%%%mﬁm

1. Bicuspid valve /Wf@—s'a‘fc—q’

2. Tricuspid valve / B udf aica

3. Semilunar valve /@W?ﬁﬂ

4. Pulmonary vaIve/tIﬁTh:lﬂTﬁ?d

Correct Answer :-

« Bicuspid valve / dlschl?qs dled

65) Black necrosis of young leaves and terminal buds develop due to the deficiency of: /

arelt afv 3R sifew s &1 e ufvres e 31 w1t & FRu faeRa Sar @:
1. Sulphur / g

2. Magnesium / HERRIGH

3. Zinc / ST

4, Boron /EﬁT\IJ:[

Correct Answer :-

« Boron /EﬁT\IJ:[

66) Choose the domain that contains the most primitive bacteria that lives in extreme environment: /

I & BT 79 B Forad TR waiaror # Yg4 ara a9 Ui sadiiar o 9
1. Eukarya/w
2. Protista / UifeeT

3. Eubacteria / JSaCIRAT
4. Archaea / 3TfHaT

Correct Answer :-

e Archaea/ @W%Cﬂ

67) What is karyogamy? / FEHaaad (H'TRﬁﬂTﬂ) T 8?

1. Fusion of gametic nucleus / J1Hd 1eh BT He =



2. Fusion of gametoplasm / TTHCTWITSH T g+

3. Fusion of gametes / JTHP DT HeTT

4. Fusion of somatic cells / BRI HIRBT3M BT I

Correct Answer :-

« Fusion of gametic nucleus / THd 1eh BT Her g

68) Which of the following is not a steroid? /
Frafafea & @ o= a1 te wRigs 761 82
1. Thyroxine / TSI

2. Testosterone / CXCIRCIA

3. Progesterone / ISR

4, Estrogen / Q@\_SFT

Correct Answer :-

 Thyroxine / JIENICAE]

69) Which among the following is viviparous? /
fFrafafea ¥ SRge s arg?

1. House lizard / m IEEEAS

2. Ostrich / T{KRH’?

3. Pigeon / P qdR
4. Kangaroo / IR

Correct Answer :-
« Kangaroo / HIRs

70) Hair like projections that extend from the epidermis are: /
TTercadT 9 faega 1 ard A9 9 wagur o @

1. Stem hairs / -1 I

2. Thorn / e

3. Root hairs / d 39

4. Trichomes / ETESEQTI



Correct Answer :-

e Trichomes / 'g“lsﬁ'ﬁ[

71) The juice of Sesbania grandifiora flowers is believed to be beneficial in improving eye sight. Identify
the plant family to which it belongs. /

AT T TS I (G797 F-STeeien Tal &1 7 il @t =¥ § JUR H3A & fore wradhs urn
W11 8 | 9 UTeU & $d &1 U Hifore foras ag Wit 3|

1. Solanaceae /@Tﬂqﬁm

2. Asteraceae / URCIRTT

3. Fabaceae / ThaTRIY

4, Brassicaceae / W (aﬁw)

Correct Answer :-

« Fabaceae /WT&W

72) Agarose, a polysaccharide extracted from Gelidium is used as medium for the: /

gﬁﬁwﬁmwwm(ﬁiﬂﬁmﬁ) ‘TR A & fore Arerm & w=u § Iuah fear s

1. storage of DNA / ST BT HESRUI

2. extraction of minerals / WSl & fTSHYU]

3. separation of DNA fragments. / SilEIY S| Bl T HRAT
4. isolation of vitamins / [deTHAT BT 3ferTa

Correct Answer :-

« separation of DNA fragments. / CiLE1Y TSl B T BT

73) A contraceptive option that suppresses sperm motility and also inhibits the implantation of
blastocyst: /

gmﬂﬁﬁﬁwﬁwﬁwa&ﬂmﬂmaﬁm%eﬁ?m(ﬁw)%mwaﬁm%,ﬁm

1. Copper-T / PHIIR — ¢

2. Diaphragm / STUTPTH

3. Contraceptive pills / TR Miert
4. Condom / HelH



Correct Answer :-

« Copper-T/ PHIIR — ¢

74) Base analogues cause mispairing and get incorporated into DNA during DNA replication. Choose the
right option representing only natural base analogues: /

ST yfaspfa & GRTM STYR 3T TAd Ad Hd & IR SITAT H AR 81 91d §1 $ad WP iad MUYR
a3l o gxitar fawed g:

1. 5-bromouracil, 2-amino purine, 5-bromo deoxyuridine/
5-STHRTRI, 2-TA ERA, 551 fSsiaRigReTs
2. 5-bromouracil, 5-hydroxy methyl cytosine, 2-amino purine/
5- SRR, 5-g3 S e [HUSd WgeIR, 2- T gfA
3. 5-methyl cytosine, 5-hydroxy methyl cytosine, 6-methyl purine/
5- YIS d ATSeiRF, -8 IRl fHUTSd AreeiiRtF, 6-fTsd GiR=

4. 5-methyl cytosine, 5-bromo deoxyuridine, 6-methyl purine/
5- TS AR, 5-siH! fS3eRigReTsH, 6-fHrrgd WA

Correct Answer :-

« 5-methyl cytosine, 5-hydroxy methyl cytosine, 6-methyl purine/

5-fErurEd RARE, s-gesa fuEd aRdRE, s- g wiA

75) The phenomenon by which a prothallus gives rise to fern plant without fertilization is called: /
ey, fASEa F 7391 B 91 B 59 31 8, 39 YT BI (A HeT ol 8:

1. Apospory / SURTARY

2. Apomixes / Q'Emila'\aﬂ

3. Apogamy / @"ﬁﬁf

4, Parthenogenesis / PIREIEEIRE

Correct Answer :-

« Apogamy / QAT

76) If the eye piece lens magnifies 10 times, what objective lens will give 400 X magnification? /
gfe A% A 10 AT Maffd Har 8, @ S A1 fie=a A 400 X smasf ¢m?

1. 400 X



2.4X
3.04 X
4.40 X

Correct Answer :-

« 40X

77) A segment of DNA has 250 Thymine and 250 Guanine bases. The total number of nucleotides
present in the segment is: /

SITT & TP UNT & 250 YTGHIA 3R 250 @ 31 Bid 8 | 59 U § Hivjg gaalesgy @1 $d 9@ = &
1. 250
2. 500
3.750
4. 1000

Correct Answer :-

« 1000

78) CANCELLED

Substitution of usual sexual reproduction by a form of reproduction which does not include meiosis and
syngamy results in the formation of an embryo which is: /

U= & ¥ H GTHT G TS BT G410, g yor & e+ § uRumreasy sieRg faues
3R g Hergw i e g €, P 8

1. apomictic haploid / TAHfe® gwilss
2. apomictic diploid / m %@Tﬂg
3. amphimictic haploid / UEh{Hfded® HIES]
4. amphimictic diploid / UfpfHfde® fewiiss

Correct Answer :-

« apomictic diploid / m fe QIVISS

79) Which of the following feature can distinguish prokaryotes from eukaryotes? /
fFrafafag & @ @19 @ v gl @ nedss (MHRAIT) B 3IeT R ol 82
1. Presence of small vacuoles in prokaryotes /| UTadhga (Mdbiaie) § Bt Rfdde! (dagshe) o Jufufa



2. Presence of cell wall in prokaryotes / UTdbge (HIBRAIC) H HIRIDBI-Hfcd Dt SRR
3. Presence of cell membrane in prokaryotes / TTabgd (Wb RAe) H PHIfRIHT f3reeh ot Iufufa
4. Presence of incipient nucleus in prokaryotes / UTadbgd (UipRare) # M Tifie ot Sufufa

Correct Answer :-

« Presence of incipient nucleus in prokaryotes / UTddhad (Mof¥die) § Rt A1fies ot Jufufa

80) Which of the following statements is incorrect regarding fluid mosaic model of plasma membrane?
(i)The plasma membrane is composed of a lipid bilayer of phospholipid.

(ii)Each phospholipid molecule has two ends, an outer head hydrophilic and the inner hydrophobic tail.
(iii)The protein molecules are arranged in two different ways: (a) Peripheral proteins or extrinsic
proteins (b) Integral proteins or intrinsic proteins

(iv)The model was proposed by Robertson (1972)./

T fRIeeh & 5 Al Aied & an A fFaferfad # & @19 91 $Y= Tad @72

(i) ST RRreeh wiapififie & fRifts ffwra @ &=t a1dft 21

(ii) TP BIEpIfUs 3] & g RR gid 8, a1e 2 srerg ofk siiafve safaRidt g=

(iiii) TSI 3Ugaii P S S-SR a¥ip| H syafeud foar wirar 8: (a) ufvdia wida ar s widH (b) s M
1 Sfaive W=

(iv) ATSd T (1972) GIRT AT A fHar 4T ATl

1. (iv) onIy/W(iv)

2. (i) and (ii) / (i) 3R (ii)

3. (iii) and (iv) / (iii) 3R (iv)

4. (iii) only / A (iii)

Correct Answer :-
o (iv) only /W (iv)
81) Observe the relationship between the first two words and fill in the word at the fourth place.

Chloroplast : photosynthesis :: Leucoplast :

UEd &t Teal & e Adel BT e H¥ SR A WM W g WY
FARIEIRE: BTN HRAY :: DI
1. Colouring of the flowers / @l &1 TS

2. Digestion of damaged cells / &Y BIRIBIAT BT U

3. Storage of energy in the form of ATP / Qéldl & TG H ol BT T

4. Storage of food / HISTH &1 TTY

Correct Answer :-

. Storage of food / HISIH &1 T



82) Conjugation between F+(donor) and F- (recipient)strain always yield .
F + (GdT) U4 F - (UTedIepdl) a1 & S GgETHed Uargargl

1. F+ strain / F +d-I1d

2. A new strain / Uch ] ddTd

3. Both F+ and F- / F + U4 F - QI

4, F- strain / F - d-ld

Correct Answer :-

o F+ strain/F + d-ld

83) Enzymes are used in the manufacture of many specific products in industries. Tissue plasminogen
enzyme is utilised to: /

TSI H! BT STNT I § g AR Iaure & fAwtor & frar sirar 81 Sae wnfRrEe TSy &1
SN fHar ST 8:

1. remove oily stain from clothes / W@ﬁ O & G Bl E,'ETa[ |

2. dissolve blood clots in heart attack patients / foe & SR & TSl & I9d & Yok »! fUeaq A
3. stop bleeding during surgery / ol & SR 98 38 G DI §g B I

4. tenderise meat / He I RAFHH

Correct Answer :-

« dissolve blood clots in heart attack patients / fed & R & 13T & Yad & Yo & fogam o

84) In cryopreservation the biological materials are first dehydrated with: /

wrafieRasH) fraara uRemr (F933e gardt o1 uga & w1y i fear smar &:
1. Xylol / STSalld

2. ethyl alcohol / SYTZA Uehigd

3. formalin -acetic acid / TIHCI -TRHITCd 3T

4. glycerol or DMS / TeRIRId TT SITHTY

Correct Answer :-

« glycerol or DMS / frerERTa a1 STy

85) Pusa Gaurav developed by breeding for disease resistance against aphids is a variety of: /



vftrst & ufd 3T gfeRiusdr & fore go=+ gRT fasfRd g3 R4 8:
1. Rape seed mustard / U8 ARCS

2. Flat bean / TRIC &4

3. Cowpea / QTS

4. Okra / 31T (11781)

Correct Answer :-

« Rape seed mustard / 0TS Aes

86) CANCELLED

Most of the mammals have as an organ of nutrition for the developing foetus. /
Sftrepisr TauTial ¥ faera=iia Yo & tun & T & Fu | gd gl

1. Mammary gland / &+ PIR]

2. Pouch / it

3. Fat/ a4l

4. Placenta / SIS

Correct Answer :-

o Placenta / Eﬁ\_rﬂ?ﬂﬂ:f

87) CANCELLED

Mesoderm, the middle layer of the embryo differentiates into structures like: /

T, yur Y worm wd g St dveenei o i gt 3

1. conjunctiva, nervous system, hairs, nails / :|7|52Q}1N-IQ'1I, RIEEA ?‘H CINASIECH!

2. gut, respiratory tract, urinary bladder, digestive gland / 3{Td, 41 d=, JATRM, U PIR]
3. connective tissues, dermis, iris, adrenal cortex / TgTeft Hdh, ddl, &ﬂgﬁ? , e{férqaaﬁ IR
4. mammary glands, lacrimal glands, thyroid, parathyroid / ¥ TfaT, 31y T, URRITS, WRIUTRES

Correct Answer :-

 connective tissues, dermis, iris, adrenal cortex / Tarelt $Hddh, oddl, &ﬂéﬁ’ﬂ , 3‘@@% Iy

88) CANCELLED

Which of the following statement is incorrect regarding diffusion? /



frraferiRad ¥ 9 o9 91 YA f[aR01 & Sd§¢ A Tad 82

1. The diffusing molecules move randomly. / i&%&jd 3] arEfRsdh U I 3 W%I

2. Rate of diffusion of molecules is proportional to the density of medium through which they move./
3L & fIERUN 5} &R 1 & &-Tcd & UG 8Id! ¢ ford A1eqd ¥ 9 3 96d g
3. Direction of diffusion of one substance is dependent on the movement of another substance./

T Uerd & faaRu & i it o uerdf &) i R Fk i 21

4. Movement of molecules is due to their kinetic energy. / 30[3{f &t TIfaf I AW SHoif & HRUT BT B

Correct Answer :-

« Direction of diffusion of one substance is dependent on the movement of another substance./

T Uerd & faaRu & i il o uerd &) vifig R ek i 21

89) CANCELLED

Which of the following statement is incorrect regarding hyaline cartilage? /

BTSATS SUIRY & Hay § fAuferfaa o ¥ &9 91 # Y= Tad 82
1. It is flexible, elastic and compressible. / g Fﬁﬂ?ﬂ, an 3R T—Iﬁ%ﬂ %I

2. It is present in extremities of leg bones, laryngeal wall, nasal septum and superscapula. / g WP _Ef%tﬁ,

ARSI AR, T JPH IR JIRWHYAT & oRH a1 § HiNg ¢ |
3. It has a heterogeneous, transparent, dark matrix. / sﬂﬁ Udh ﬁ'sl'q, g REQ“, STh aﬁﬁm %I
4. Sternum is connected to ribs by hyaline cartilage. / ©-iH, BIZETS BIfcalol gRT TAfdl § ST AT 7 |

Correct Answer :-

« It has a heterogeneous, transparent, dark matrix. / sﬂﬁ Udh ﬁ'ﬁl'q, U RGQ", @T@ ﬁﬁfﬁl %I

90) CANCELLED

The percentage ratio of natality over mortality that determines the growth of a population is known as: /
g &X TR T &3 T UFA=Td SIUTd Sl S & fasT @1 fAeifea wwar 8, ag 9 oiman 8:

1. sex ratio / fei¥T STUId

2. population density / STRIRSHT U=

3. vital index / HE@YUl JAH 1P

4. age structure / 3Y TTT

Correct Answer :-



« vital index / AGAYUl YD

91) CANCELLED

The hairs on the skin erect when temperature falls. Give reason: /

ST dT9HTE R 8 O &1 & 919 @ 81 9 @ | PRI 9aT9:
1. The thickened fur coat act as an insulator, / {Ie] TR hic SHHRIL & =g H Ohlfj hdl %I

2. It is a behavioral change. /WWWW%I
3. It is due to subcutaneous fat. / g MWW@W@@W%I

4. Cold makes the hair stiff. / Rd &1 I FSR ST B |

Correct Answer :-

« The thickened fur coat act as an insulator. / HIcT TR Bic SHRI & =0 § SR HRd] %I

92) CANCELLED

Part of the pro meristem that develops into cortex of the stem and roots is: /
WS AUSHITD SHad BT fowdT ol a1 3R sl & MR A fawRa giar 31
1. Periblem / UR&aH (TSI UTTRT)

2. Dermatogen /aﬁ?ﬁﬁ?

3. Plerome / TR

4. Both dermatogen and plerome /Eﬁ?‘hﬁ:f @T@Iﬁﬁa:ﬁ

Correct Answer :-

« Periblem / URsAH (AaSITd TidwyN)

93) CANCELLED

Erythromycin is an antibiotic which provides protection from bacterial diseases by: /
TiaERE T téarnfes § St fu fobar g1 Sitary] s I & R&m UeH Har &

1. disrupting the cell membrane/m@ﬁﬁaﬁwm

2. inhibiting protein synthesis /Iﬁ?‘ﬂ:[ AT DI AP dH

3. hindering cell wall synthesis /WWW@WW

4. binding with microtubules / JEAATIHIS & Y FEHR

Correct Answer :-



« inhibiting protein synthesis /WWﬁW
94) CANCELLED
Lysosomes are called the suicidal bags of the cell because: /
ATSHAH B A DT ATHEATHD S HET SITdT & FNfh:
1. they digest foreign materials. /
J fae=it Il & = gl
2. when the cells are damaged, the lysosomes burst and the enzymes digest their own cells. /
TS PIRIGIT eifoPrd g1 et §, O agar IRgpfed 81 9Id 8 3R Uz Su-t HIRIw1eh &) Uam ad §1
3. lysosomes contain digestive enzymes. /
AEEIE § Ure GoTsH M 8id 3
4. they promote the suicide of the organism. /

3 ofld &Y Siicdedr & T sgrar 3 B

Correct Answer :-

« when the cells are damaged, the lysosomes burst and the enzymes digest their own cells. /

TS BHIRGIT eiferrd g et §, O IO Upfed 8) 9 § 3R Uogd St HIfiewsreh & e avd §1

95) CANCELLED

Given below are a few events in meiosis:-

(i) Splitting of centromere and separation of sister chromatids
(ii) Terminalisation of chiasmata

(iii) Procentric pairing of chromosomes

(iv) Arrangement of bivalents in the plane of equator of the cell
Which of the following options give the correct sequence in which they occur?/
W= & g srehphfaures oo geAm §: -

(i) TOREAG BT fauTe 3R 98 wiAfest S e He-T

(i) SAQATRIBT BT IUTAIHIT

(i) TOREA BT WA g

(iv) FIRET & YA 3@ & e ¥ fguaiore! of saawa
Frafafea & & #19 w1 fdwe w6t srgew qar 8 i 3 afiea g1d &2

1. (iii), (ii), (iv),(1)
2. (iv), (i), (iii), (ii)
3. (ii), (i), (iv),(iii)
4. (i), (iv), (ii),(iii)
Correct Answer :-

o (iii), (ii), (iv),(1)



96) CANCELLED

In Cucurbita plants, the pollen tube enters the ovule through the funicle or integument. This process is
called i

@ﬁﬁﬁmm%mﬁwm%mmﬁmﬁmm%lwmﬁ Cadl
STaT B

1. misogamy / YA

2. herkogamy / 3N U
3. porogamy / 3SgRI UaY

4, chalazogamy / ﬁﬂ-ﬂ"'ﬁw

Correct Answer :-

« misogamy / YA

97) CANCELLED

Carnivores represent this level of food chain: /
Hayel T §ae & 39 TR &I i &

1. Producers / 3dIgd

2. Secondary consumers / ATEH® JTHIG

3. Decomposers / ATUCH

4. Primary consumers / TS IuHTeT

Correct Answer :-

« Secondary consumers / ATSAH®G ST

98) Enzymes of small intestine remain active at an optimum pH of: /
B ffd & TTSH TP STAH pH WX Afba 3gd & &l F @

1.7-8

2.6

3.2

4.4

Correct Answer :-



99) What are heterocrine glands? / %@ﬁﬂ?ﬁl (FAYHHTd!) TIGT T glddl 8?2
1. Glands with endocrine and exocrine parts / 3id-grdl U sfg:rdl 3 drelt Tfrt
2. Glands that secrete pheromones / BRI T1fad 6= areft Uit

3. A collection of 6 glands / 6 AT &1 T8
4. Glands with ducts / ATg® AIfeTbT3M aTai TfT

Correct Answer :-

« Glands with endocrine and exocrine parts / 3id-grat Td Sfg:grdt 3 arelt Tft

100) As the sarcomere contracts the length of the A- band: /
W9 ATSIHAR HHTId ST § df A-4S P daTS:

1. Remains the same / 1 fob i Tgal %

2. Increases thrice / A1 [l de St 8

3. Doubles / a'ﬂ:ﬁ fﬁ STt %

4. Decreases / W 81 Ol §

Correct Answer :-

+ Remains the same /@ffﬁ??‘cﬁ stil %



